SOLUTION OF THE PELL EQUATIONS

Dr.S.Subramanian, M.Sc., M.Phil., B.Ed., PGDCA., Ph.D.,¹ Professor & Head, Department of Mathematics, Prist University, Thanjavur S.Malar Valli,¹ Research Scholar, Department of Mathematics, Prist University, Thanjavur

ABSTRACT:

In this paper we discussed all positive integer solutions of the equation $x^2 - dy^2 = \pm 1$ and $x^2 - dy^2 = \pm 4$ are given in terms of Pell Fibonacci and Pell Lucas equation.

Key word: Diophantine equations, Pell equations, continued fraction, nth convergent, Quadratic irrational.

INTRODUCTION:

8

In mathematics, a Diophantine equation is a polynomial equation in two or more unknowns such that only the integer solutions are searched or studied. In Diophantine equation, $x^2 - dy^2 = \pm N$ is a Pell's equation[1]. Let $d \neq 1$ be a positive nonsquare integer and N- be any fixed positive integer[2]. Pell's equation is named after the English mathematician John Pell[3]. It was studied by Brahmagupta in the 7th century as well as by Fermat in the 17th century. The Pell equation has infinitely many integer solutions (x_n, y_n) for $n \ge 1$ [3]. The first nontrivial positive integer solution (x_1, y_1) of this equation is called the fundamental solution,

The aim of this Paper is to study an application of continued fraction for some kind of Pell's equation and the salient aspects of the subject matter in four sections.

Section 1 and Section 2 contains preliminaries and basic theorem of solutions of the Pell equations $x^2 - dy^2 = N$ [4].

Section 3 deals with to find the fundamental solution of the equation

 $x^2 - (k^2 + k)y^2 = 2^t$ and generalized the solution.

Section 4 deals with to find the fundamental solution of the equation

 $x^2 - (a^2b^2 + 2b)y^2 = N$, when $N \in \{\pm 1, \pm 4\}$, and generalized the solution through Fibonacci and Lucas sequences.

RELIMINARIES and BASIC DEFINITIONS

Definition 2.1 Let a_0 , a_1 , ..., a_m – be real numbers. Then

$$a_0 + \frac{1}{a_1 + \frac{1}{a_2 + \dots + \frac{1}{a_{m-1} + \frac{1}{a_m}}}}$$

is called a **finite continued fraction**[8] and is denoted by $[a_0, a_1, ..., a_m]$.

Definition 2.2 If the chain of fractions does not stop, then it is called an **infinite continued fraction**[8]. **Definition 2.3** (a) For $n \le m$, $[a_0, a_1, ..., a_n]$ – is called n^{th} convergent[7] to $[a_0, a_0, a_0]$

 a_1, \dots, a_m]. (b) Define two sequences of real numbers, (p_n) and (q_n) , recursive as follows,(i) $p_{-1} = 1$, $p_0 = a_0$ and $p_n = a_n p_{n-1} + p_{n-2}$ (ii) $q_{-1} = 0$, $q_0 = 1$, and $q_n = a_n q_{n-1} + q_{n-2}$.

Definition 2.4 Let α – be a real number. For n = 0,1,2,... define a recursive algorithm as follows, $\alpha_0 =$

 α , $a_n = |\alpha_n|$ and $\alpha_n = a_n + \frac{1}{\alpha_{n+1}}$, where, α_n , $a_n \ge 1$, for $n \ge 1$.

Given positive m, $\alpha = [a_0, a_1, ..., a_{m-1}, a_m]$. It is called **m**th continued fraction [7] of α . **Definition 2.5** Let α – be an irrational number. α – is called a **quadratic irrational** if it is a root of integer

polynomial of degree two. The other root β – is called a conjugate of α .

Definition 2.6 Let $[a_0, a_1, ..., a_n, ...]$ – be a continued fraction such that $a_n = a_{n+l}$ for all sufficiently large n and a fixed positive integer l. Then it is **periodic** and l – is called a period.

SOLUTIONS OF THE PELL EQUATIONS

 $x^{2} - (k^{2} + k)y^{2} = N$, When $N \in 2^{t}$

In this work we will define by recurrence an infinite sequence of positive integer solutions of the Pell equation $x^2 - dy^2 = 2^t$, where $d = k^2 + k$ with $k \ge 1$ an integer and $t \ge 0$ is also an integer. First we consider the case t = 0.

That is, the classical Pell equation, $x^2 - (k^2 + k)y^2 = 1$.

MAIN RESULTS

Theorem 3.1 Let $d = k^2 + k$ with $k \ge 1$. Then,

(1) The continued fraction expansion of \sqrt{d} is,

$$\sqrt{d} = \begin{cases} [1;\overline{2}] & \text{if } k = 1, \\ [k;\overline{2,2k}] & \text{otherwise} \end{cases}$$

- (2) The fundamental solution of $x^2 dy^2 = 1$ is $(x_1, y_1) = (2k + 1, 2)$.
- (3) For $n \ge 4$,

$$x_n = (4k+3)(x_{n-1} - x_{n-2}) + x_{n-3}$$

$$y_n = (4k+3)(y_{n-1} - y_{n-2}) + y_{n-3}$$

Proof.

Let
$$k = 1$$
, $\sqrt{k^2 + k} = \sqrt{1 + 1} = \sqrt{2}$
 $x^2 - 2y^2 = 1$.

The simple continued fraction of $\sqrt{2}$ is

 $\sqrt{2} = [1; \overline{2}].$

Now, let $k \ge 2$,

9

$$\sqrt{k^2 + k} = k + \sqrt{k^2 + k} - k$$

$$= k + \frac{1}{\sqrt{k^2 + k} - k}$$

$$= k + \frac{1}{\sqrt{k^2 + k} + 2k - k}$$

Scope International Journal of Science, Humanities, Management and Technology. ISSN : 2455-068X Vol.4 Issue 3 (2018) 8 - 12. Submitted 20/06/2018. Published 05/07/2018

$$= k + \frac{1}{2 + \frac{\sqrt{k^2 + k} - k}{k}}$$

$$= k + \frac{1}{2 + \frac{1}{\frac{k}{\sqrt{k^2 + k} - k}}}$$

$$= k + \frac{1}{2 + \frac{1}{\frac{k(\sqrt{k^2 + k} + k)}{k^2 + k - k^2}}}$$

$$= k + \frac{1}{2 + \frac{1}{\sqrt{k^2 + k} + 2k - k}}$$

$$= k + \frac{1}{2 + \frac{1}{\frac{\sqrt{k^2 + k} - k}{\sqrt{k^2 + k} - k}}}$$

$$= k + \frac{1}{2 + \frac{1}{\frac{1}{\sqrt{k^2 + k} - k}}}$$

Therefore, the continued fraction expansion of $\sqrt{k^2 + k} - is \sqrt{k^2 + k} = [k; \overline{2, 2k}]$. (2) The case k = 1 is clear.

Since, $(x_1, y_1) = (3, 2)$ is minimum solution of $x^2 - 2y^2 = 1$. $k \ge 2 \implies a_0 = k$, $a_1 = 2$ By the definition (2.2.3)

$$(x_1, y_1) = (p_1, q_1)$$

= (1 + a_0 a_1, a_1)
= (1 + 2k, 2)

Therefore, the fundamental solution of the equation

 $x^2 - 2y^2 = 1$ is (1 + 2k, 2).

(3) For $n \ge 4$.

The fundamental solution of $x^2 - (k^2 + k)y^2 = 1$ is (x_1, y_1) .

The other solutions of the equation are (x_n, y_n) , which is derived by using the equalities

$$(x_n + \sqrt{d}y_n) = (x_n + \sqrt{d}y_n)^n$$
, for $n \ge 2$.

In other words,

$$\binom{x_n}{y_n} = \binom{x_1 \quad dy_1}{y_1 \quad x_1}^n \binom{1}{0}, \quad \text{for } n \ge 2.$$

Therefore it can be shown by induction on n that,

$$\begin{aligned} x_n &= (4k+3)(x_{n-1}-x_{n-2}) + x_{n-3} \quad \text{and} \\ y_n &= (4k+3)(y_{n-1}-y_{n-2}) + y_{n-3} \,, \quad \text{for} \ n \geq 4. \end{aligned}$$

This proof is complete.

Now, the general case, $x^2 - (k^2 + k)y^2 = 2^t$, for $t \ge 1$, we have consider the two cases. Let k = 1 and $k \ge 2$.

 (x_n, y_n) - be the integer solutions of $x^2 - (k^2 + k)y^2 = 1$ and (u_n, v_n) - be the integer solutions of $x^2 - (k^2 + k)y^2 = 2^t$.

SOLUTIONS OF THE PELL EQUATIONS

$$x^{2} - (a^{2}b^{2} + 2b)y^{2} = N$$
, When $N \in \{\pm 1, \pm 4\}$

In this chapter, we get all positive integer solutions of

 $x^2 - (a^2b^2 + 2b)y^2 = \pm 1$ and $x^2 - (a^2b^2 + 2b)y^2 = \pm 4$ are given interms of the generalized Fibonacci and Lucas sequences.

MAIN RESULTS

Theorem 4.1 Let $d = a^2b^2 + 2b$. Then $\sqrt{d} = [ab, \overline{a, 2ab}]$. **Proof.**

$$\begin{split} \sqrt{d} &= \sqrt{a^2b^2 + 2b} \\ &= ab + \sqrt{a^2b^2 + 2b} - ab \\ &= ab + \frac{1}{\frac{1}{\sqrt{a^2b^2 + 2b} - ab}} \\ &= ab + \frac{1}{\frac{\sqrt{a^2b^2 + 2b} - ab}{2b}} \\ &= ab + \frac{1}{\frac{2ab}{2b} + \frac{\sqrt{a^2b^2 + 2b} - ab}{2b}} \\ &= ab + \frac{1}{\frac{2ab}{\sqrt{a^2b^2 + 2b} - ab}} \\ &= ab + \frac{1}{\frac{a + \frac{1}{2b}}{\sqrt{a^2b^2 + 2b} - ab}} \\ &= ab + \frac{1}{\frac{a + \frac{1}{2ab} + \frac{1}{a + \frac{1}{2ab} - ab}}{2b}} \\ &= \sqrt{a^2b^2 + 2b} = [ab, \overline{a}, 2ab]. \end{split}$$

This proof is complete.

Theorem 4.2.2.

Let $d = a^2b^2 + 2b$. If $b \neq 1$, then $\sqrt{d} = [ab, 2a, 2ab]$ and if b = 1 then $\sqrt{d} = [a, \overline{2a}]$. **Proof.**

$$\sqrt{d} = \sqrt{a^2b^2 + b}$$
$$= ab + \sqrt{a^2b^2 + b} - ab$$

$$= ab + \frac{1}{\frac{1}{\sqrt{a^2b^2 + b} - ab}}$$

= $ab + \frac{1}{2a + \frac{1}{2ab + \frac{1}{2a + \frac{1}{2ab}}}}$
 $\sqrt{a} = \sqrt{a^2b^2 + b} = [ab, \overline{2a}, 2ab].$
If $b = 1$, then,

 $\sqrt{d} = [a, \overline{2a}].$

This proof is complete.

CONCLUSION:

In this Paper, by using continued fraction expansion of \sqrt{d} , we find fundamental solution of the $x^2 - dy^2 = \pm 1$, where *a*, *b* and *c* are natural numbers and $d = a^2b^2c^2 + 2ab$ or $a^2b^2c^2 - 2ab$. Moreover, we investigate Pell equation of the form $x^2 - dy^2 = N$ when

 $N = \pm 1, \pm 4$ and we are looking for positive integer solutions in x and y. We get all positive integer solutions of the Pell equations $x^2 - dy^2 = N$ in terms of generalized Fibonacci and Lucas sequences when $N = \pm 1, \pm 4$ and $a^2b^2c^2 + 2ab$, $a^2b^2c^2 - 2ab$. Finally, all positive integer solutions of the equations $x^2 - dy^2 = \pm 1$

and $x^2 - dy^2 = \pm 4$ are given in terms of Pell - Fibonacci and Pell-Lucas sequences.

BIBLIOGRAPHY

- [1] T.Andreasu, D.Andeica-Qudratic Diophline equation Developments in mathematics 40.
- [2] James S.Kraft, Lawrence C.Washington- An introduction to number theory with Cryptography, second Edition, CRC Press- Newyork.
- [3] E.Barbeau, Pell's Equations, Springer-verlag, 2003.
- [4] Asefa Abahumna- A Handbook for Beginners on Basic Research concepts.
- [5] Zahid Raza, Hafsa <asood <alok, Solution of Certain Pell Equations.
- [6] A. Adler and J.E. Coury, The Theory of Numbers, A Text and Source Book of Problems, *Jones and Bartlett Publishers, Boston, MA*, 1995.
- [7] S.P. Arya, On the Brahmagupta Bhaskara Equation, Math. Ed,. 8 (1) (1991), 23-27.
- [8] C. Baltus, Continued Fractions and the Pell Equations, The Work of Euler and Lagrange, *Comm. Anal. Theory Contin. Fractions*, **3** (1994), 4-31.
- [9] E. Barbeau, Pell's Equations, Springer Verlag, 2003.
- [10] Barbeau and J. Edword, Pell's Equation, Problem Books in Mathematics, Springer Verlag, 2003.
- [11] H.M. Edwards, Fermat's Last Theorem, A Genetic Introduction to Algebraic Number Theory, Corrected Reprint of the 1997, *Original, Graduate Texts in Mathematics, 50, Springer Verlag, New York,* 1996.
- [12] M.E.H. Ismail, One Parameter Generalizations of the Fibonacci and Lucas Numbers, *The Fibonacci Quarterly*, **46-47** (2009), 167-180.